Slope-Intercept Form Ticket 4

1. Circle the equation that is NOT written in		6.  Graph: y=2x+1
[image: http://www.shodor.org/media/Y/2/V/kYWMxZTc5YTI4NzE1OWI1Y2RiZGI1ZDAzNTY4NTA.gif]    slope-intercept form.
						
A. 2x + 4y = 24
B. y =  ¾ x
C. y = 12 – 2x

2. In y= ½ x+8, what is the slope?

A. ½ 
B. 8
C. -8

3. In y= ½ x-4, what is the y-intercept?
	
A. ½ 
B. 4
C. -4
							7. Graph: -3/2x +3
[image: http://www.shodor.org/media/Y/2/V/kYWMxZTc5YTI4NzE1OWI1Y2RiZGI1ZDAzNTY4NTA.gif]4. Which equation has a slope of – ½  and a 
    y-intercept of 3?

A. y= -¼ x+3
B. y= 3x-½ 
C. y=-  ½x +3

5. Graph: y=1/3x-5
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